Washing machine / Waschmaschine
WMAO93E

Tel.: +49 40 600 094 680 E-Mail.: info@wesco-navy.de




Washing machine

WMAS93E

Heating......oooveeeeeeeeeeccee e 6,00 KW
1Y/ (0] (o] SRRSO 0,37 KW
Total capacity.....ccceeeeeeeiiii 6,37 KW
Heating : 6 KW

Capacity : 9 Kg (dry linen/charge)

Drum volume : 90 Litres

Water consume
Extraction
Motor

Noise level
Drain system

Marine Execution

: 150 Litres (max.)
:up to 580 r.p.m.
0,37 kW

: <65 db

: Gravity drain

- Inner- and outer drum as well as top and

front panel of stainless steel.

- Operating instructions on the front as

international signs.

- Fully automatic operation with spin dryer.

- Solid A-frame construction, minimizing

vibrations and maximizing stability.

- Fully electronic control.

- Big door opening.

- "Heavy Duty" industrial bearing house.

- Simple maintenance.

- Hoses for water inlet and drain delivered.

Installation:

Please follow our instructions very well.

The foundation must be free of vibrations.




Front Side Back
g oy 3 415
1 Electrical connection
218
2 Hotwater 10 293 \m
3 Cotd water hard ___u_\ N mm B
. . — o of o
5 Main switch | . 8 3 2 12
7 Drain : - wm_u ° O
8 Soap dispenser m
9 Control panel
11
10 Button CENTRALSTOP e 0 o 1000
11 Door opening 920
12 Fuses
Point 4 and 6 are not 4
- , : [ # O7
exisiting on this machine. g8
|
— = — = f 166 -
671
785 | 660
660
69 522 msﬂ””wa_ﬂ__ﬁ _.zumwz Included in scope of supply:
_ Drain: 76 3.:._ Drai .
— Drain pipe
139 — 2 water inlet hoses, each
0 _ 150 cm long
1] . 2 Wir behalten uns vor, die technischen Spezifikationen Im
_-IOO._._U—n_J._. 24 671 Interesse der Weiterentwicklung zu vertndern.
474 PLOT OUT OF SCALE .<“o reserve the right to modify the specifications
IT necessary.
ITEM: DRAW. | AW | 08.10.14
@) — Washing machine
m_m WMA93E THIS DRAWING REMAINS REV. - -
] Waschmaschine ﬁ._mmmwwoﬁwq OF
Front Tel.: +49 40 600 094 680 Fax.: +49 40 536 75 01 WESCO ZQ<<
E—mail.: Info@wesco—navy.de

Hamburg




Installation

Rigid-mount machines

Transportation and unpacking - rigid-mount machines

/\ WARNING!

OF-BALANCE WITHOUT A REAL OUT OF BALANCE IN THE DRUM.
NEVER INSTALL THE MACHINE ON SURFACE CONSISTING OF VINYL!

ALWAYS CONSULT THE STATIC REQUIREMENTS WITH A STATIC ENGINEER IN ORDER TO MEET
THE REQUIREMENTS OF PERMISSIBLE LOADS, VIBRATIONS AND NOISE LEVEL IN THE BUILDING!
THE MANUFACTURER DOES NOT RECOMMEND INSTALLING THE WASHING MACHINE IN A ROOM
WITH A CELLAR UNDERNEATH OR ON A FLOOR HAVING ROOMS UNDERNEATH.

ITIS OF UTMOST IMPORTANCE THAT THE MACHINE IS PLACED IN LEVEL, FROM SIDE TO SIDE AS
WELL AS FRONT TO REAR. IF THE MACHINE IS NOT PROPERLY LEVELED, IT MAY RESULT IN OUT-

e The machine is delivered bolted onto the transport pallet and packed in a shrink-wrap foil or box.

- Remove packing from the machine.
- Remove front and rear panel. Remove the bolts between the machine and pallet.

o When the machine is lifted off the pallet: Make sure that the machine does not come down on the floor with

either of the rear corners first. The side panel of the machine can be damaged.

e Two self-adhesive rubber stop-blocks are supplied with the machine. They might be applied as paint protection

when opening the door. = TN
Siting - rigid-mount machines
e |[nstall the machine close to a floor drain or open drain.
e In order to make installation and servicing the machine easier
the following clearances are recommended, see figure 9.
o Atleast 500 mm between the machine and the wall behind.
o And min. 20 mm on both sides of the machine whether
installed next to the wall or other machines.
i . . N 548227C _/
Location of anchor bolts - rigid-mount machines Figure 9 — Rigid-mount machines
e Use spacing washers in order to install the machine in a level
and stable manner in all its corners. See figure 16, 17.
e “ " —drilling points for anchoring bolts, or chemical anchor bolts,
see figure 10, 11.
e %
LG A C -
i Capacities
i
O' a) WMAT73 : 7Kg
g ® WMAS83 : 8kg
WMAS3 : 9 kg
o WMA103 :10 kg
om WMA123 :12 kg
WMA153 :15 kg
WMA203 :20 kg
ol Lo o) W
el cl.| i
! F
N 5492728/

Figure 10 - Rigid-mount machines
7-8-10-12-15-20-25-30kg



Installation

_ Rigid-mount machines Capacities
WMA73 : 7 kg
MACHINE A B ¢ D E F G WMAS3 . 8 kg
WMA93 : 9 kg
522 474 69 139 575 660 | 6705
WAthaS WMA103 10 kg
WMA103 | 615 474 675 139 575 750 | 6705 WMA123 :12 kg
WMA123 WMA153 :15 kg
—— 574 675 154 575 750 | 7855 WMA203 :20 kg
WMA253 :25 kg
— 569 695 | 2205 50 890 | 8385 WAM303 :30 kg
— 714 695 | 2205 50 890 | 9845
— 789 695 | 2205 50 390 | 10595

Table 22 — Rigid-mount machines, (dimensions stated in mm)

Providing elevated concrete pad - rigid-mount machines

e This method comes into consideration in case that the existing
floor is thinnerthan 120mm / 4.72"or in case that the machine

should be positioned above the existing floor level.
The height of the elevated pad could be 150-200 mm /
5.9-7.87", see figure 12.

Procedure:

e Break and remove the existing floor down to the depth of approx
75mm / 2.95", see figure 13. The longest dimensions of the lower

part of the hole must be by 120 mm / 4.72" longer
than the dimensions of the upper part of the hole.
G and F dimensions - see table 22.

o \Wet the complete hole and spread over with cement.

e In order to increase the load-bearing capacity and reduce
the concrete deformations, we recommend inserting an armature
into the base of the pad. In order to achieve adequate connection
of the new pad with the existing floor, insert a reinforcing bar

or reinforcing bars.

- NOTE: When inserting the reinforcing elements, take into
consideration the locations (and space requirements) for drilling

holes which will be used for the chemical anchor bolts.

e Pour concrete into the prepared base. Level the surface
carefully into a horizontal plane.

e | et the concrete harden for at least one week before
installation of the machine.

/

150 - 200 mm

40mm.

K 5492688/

Figure 12 — Rigid-mount machines

\ 5492688 )
Figure 13 — Rigid-mount machines,
G, F —see table 22




Installation

Installation on floor or steel base ~ rigid-mount machines

The drum of rigid-mount machines is fixed to the frame.
The floor and steel base (if used) underneath the machine
MUST be stable enough to be able to absorb the dynamic loads
which are created during the spinning sequence, see the values
for each machine specified in table 1, 2.

Therefore, M16 anchor bolts - pos.4 — see figure 14 and 15 and

washers 860/ 16.5 x Bmm - pos.2 and M16 self locking nuts - pos.1

must be used so that the machine, the steel base (if used)
and floor form one integral unit — see figures 14 and 15.

The anchor bolts are not supplied with the machine. The washers
and nuts are supplied with the machine. The torque is T00Nm.

The existing concrete floor must be at least 120mm /4.72" thick.
Dimensions for anchoring - see figures 10, 11 and table 22.

Check that the machine is installed in a level and stable manner
in all its corners. If necessary, level it up by means of stainless

or galvanised spacing washers, see figures 14, 15, 16, 17, pos.3
(washers are not supplied with the machine) inserted in between
the machine frame and the floor — see figures 16, 17. The dimensions
of the spacers must be the same as the dimension of the machine

frame in the place where the anchor bolts are located — 80x80mm.

Fit a washer and self locking nut on the anchor bolt and tighten
it with a torque wrench to a torque of 100Nm.

It is advisable to recheck the torque after a short period
of the machine operation.

The bottom frame of the machine shall be used for the purpose
of lifting the whole machine.

Place the machine over the four drilled holes.

e Check that the machine is seated in a perfectly level manner.

The anchoring of the machine or the steel base can be carried
out by means of mechanical or chemical anchor bolts which
must be able to form one integral unit with the floor (they are
not supplied with the machine).

Capacities

WMA73 : 7 kg
WMA83 : 8kg
WMA93 : 9 kg

WMA103 :10 kg
WMA123 :12 kg
WMA153 :15 kg
WMAZ203 :20 kg
WMA253 :25 kg
WAMB303 :30 kg

\
FLOOR
+| 554441
Figure 14 — Rigid-mount machines,
Installation on floor
WASHER
BOLT M16
(SUPPLIED
WITH THE STEEL
BASE)
554442 /
Figure 15 — Rigid-mount machines,
Installation on a steel base and floor
il — LEVELING )
THE MACHINE UP
WASHER 3
L \A
3 e
AS NEEDED :
CONCRETE__L
FLOOR
- 554440/

Figure 17 — Rigid-mount machines,

7-8-10-12-15-20-25-30kg



3 2 AR
gy 8 s i
Eat = s 2 O P 3 My}
BIZRE DgfET S5EiTE irf o B | . ¢m 3m m !
D E e P B Freq. Inverter FR-D700 bpsernst £15 Dsernes 5 S fla B 3 %
T wke omas | b £ 55 EE 58 [l s [ gl s B E I
READCR @ 8 B & a5 b P 4 : IRLg
Serial COM2 - W m e om e o~ o _ m_ mm Mm 3 m 5! %»n_nn m_m mm»nmd b mm e &8 W w
Wl @ £ T3 T E T $ el ma i g 3| & _..@ H K 2 § mﬁ_
Graphical 2 1 s | E FBiE wﬂm 3 S PR 1 1 gl |\ . o 8
e |g= w5 A3 g TR O B R I i
A i Ground Fl 3 I 4 1ol wl 4 g £ 4 g%
o [T w2 R T : el ol a7 § oo _ S as
e ar 14 $s3281 3zii @ dii b | 52 “ $d 53
CPU u__p._g-n_u.- T T [ Lo it I ] [ L S ‘_. _w W i i HHH.H H .w‘wm.w.w.m m
KEYBOARD |board [ EE82 393 ssssss wer S8 7 ¥ 3 4 3 T e % z¥tgiy = wmamas ¥
green — meaHmm é .Nm._o_.?. g%._,.»p Gption :.JJ»» dm h m T § g m g 2 L] I Jeteis e e m w g ml xn 2
blue - 533411 ooq inpot 102 dndog mput 142 § S 5 £ = 2 [ 5 : i g 5
PR ETPEY! red - 333419 mnm o - ____um ] We L n 2 v § 8 mmmmmm ¥ h.u._ Bt H
EFEELE LT s mer S Les, P i i i
orth B =
L [T-R— =
. ". BLACK _b“ HD
= TTTTTT board e
: 7H ah ...._. m_ u_ mk Ju 553405 oot 3
2l el g Bl d] dl e EEEEEFE =
. g Luu u_u L.M_u e =
- i Stk 34
4 & _ Outout 33
U =k
2 et - - w2V
Hl.l.a g F # ¥ F F| B m_m_m.mmmmmm
; o oo
FI Moy o
FREQ, HVERTER .@ _W_ ova cF1 | 2| 13| 1e
: BoXXXX%
Bl jE K b
EEEEEERERE
: 3 = = b § - - =
B o 3| 3| 3| 3 g B 3 i
R I M MBS N E M EHE
; ol 5| B I g7 il B B 3
o £
iz o] & 2] 32| 47| 4F| af] 42 qutput 89 Is stondord "Liquid saop signal 7,
i but con be changed o *BUSY" signal for BC/EC
* CONNECTION 1 @ 3x380-4(SV+N % % CONNECTION 4 : 3x4d0W %
ol EMG Filter L
L2 &-—
& L e r.|ﬁ- ° L3 - xxRE | Option
L2 N ..ﬁ?: L L2 < 0 -
% PE a— - —— e - u e
1 " PE J ———— . COIN MACHINES or EXTERNAL PAYMENT
" e Uh_o-.-i“.n — . —  ELECTRICAL HEATING
PE
% CONNECTION 2 1 1/3x208-240V % ® CONNECTION 5 : 120V = 5
L
Fil iy -
1288540 V 58 e ; JrEm L3 s p .m.~|w.. 20w = i _
1 Be ot b HHEHEE R/l — Le
™ s LL /AN —— w2 Nt LL w_ov e
Eo4— - — r Wi— - it
—] Do s
Machine types where used Tolerance  |Roughness| Scole: Weight:
i il aTaraTaraa * CONNECTION 3 © 3x400V x m - Noterial
ﬁh.Uum..” i S—— VPR wah - IbaiteR Rough dimensions:
wachier o :
= Stondard for rough material:
Ry : Do te Name Article description
o __”w = Made | 26novl3 PSt
, 3 . Check
i3 e < S Stand SCHEMATIC DIAGRAM
Coing ©
oo .
J Main group Article number Page: 1
B |LI/ L3 indic  [03janI3|NJ
e A [120V_execution|07nor 4PSE 560 o932 386 Pogesil
Stot| Modification | Date Name| Reploces: [ Replaced hy:




Instructions for installation on ships

CAUTION:

Be sure that the washing machines are installed on a level deck with sufficient strength.
The recommended clearances for inspection and maintenance must be provided.
Never allow the inspection and maintenance space to be blocked.

IPORTANT:
1.
The washing machines must be securely fastened on a flat metal base.

2.

The fixing has to be done on the 4 provided places on each washing machine.
Each corner has a prepared hole.

(See the seperate mounting bolt hole locations).

3

fhe washing machines must be fastened on a strong metal base which is securely welded to ship's deck.

4.
The base must be free of vibrations when washing machines are extracting.

5
Vibrations due to a weak metal base will damage the washing machines.

6.
Machine bolts should be re-checked every three months.

i -

—r]

-

/////

FRONT =
== ]
X: Strong welding! — f
| e
I d
FRONT ¥ .
i
= —
TP N,
FRONT | N
N a
\
X

X

7 BT T TP T4 A

2L

a. b. c. d. e. f.

Foundation |Fastening Machine Washer Nut Counter Nut
WMAT73E 3" U-iron M12 x 60 40x17x 4 M 12 M 12
WMAB3E 3" U-iron M12 x 60 40x17x4 M 12 M 12
WMA103E  |3" U-iron M16 x 80 40x17x 4 M 16 M 18
WMA123E  |4" U-iron M16 x 60 40x17x4 M 16 M 16
'WMA153E (4" U-iron M16 x 60 40x17x4 M 16 M 16
WMA203E 4" U-iron M16 x 60 40x17x4 M 16 M 16
WMA253E  |5" U-iron M16 x 60 40x17x 4 M 16 M 16
WMA303E  |5" U-iron M24 x 60 40x17x 4 M 24 M 24




